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Questions

Cholera disease is characterizedly.

The drink which can't use in Hepatitis is.

Thread worms are lay egg around.

The round worm is about................ centimetre long.

Which is dangerous type of influenza.

Which one is dangerous and rapidly spreading infection

Hapatitis is the inflammation of.

Influenza virus is .........ccccceeeene types.

The chemical present in smoke of cigarette which makes the person addict is

DPT is not effective is.

BCG saves the child from

The age of the child in which he is given first injection of BCG is.

The drinks which can be used in more in hepatitis are.

The age of child in whihc the child is injected wiht measles is.

Tests are responsible for the development of male sex while. responsible for the
development for female sex.

Answers Choice

A. State fruits

B. Poluted water
C. Stools water
D. All of them
A
B
C
D

. Water

. Juice

. Vitamins
. Alcohol

Anus

Liver
Kidney

All of them

10 to 30
20t0 30
40 to 50
70 to 80

Type A
Type B
Type C
aandc
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. Hepatitis

. Whooping cough
. Tatanus

T.B

Heart
Kidney
Liver
Stomach

Three
Two
Four
One

Tar

Nixotine

Carbon monoxide
Nitrogen dioxide

diphtheria

Polio

Whooping cough
Tetanus

Diphtheria
Polio

T.B
Hepatitis

First month
At birth
Third month
Ninth month

Sugarcane
Milk

Water
Juice

At birth

First month
3rd month
9th month
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Pancreas
Ovary

C. Gonads

D. Adrenal gland
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